Hi' dn »

FITH

1 UFNTN—A  |HEILUSATE s 1
2 AL 30N =NEF 62.5 2 | 2 5
3 F0)347-J)0  |BE 59.4 C | C [Py 3
4 F—A-¥215-F |REHEE 55.2 D D 9| 8 12
5| 9 |[E=FP4Ix0N7T |SHHEZ 55.1 D |  D| 3|5 9
5 Bo39HNT | R 52.9 E|E| 5| 7 15
7 INTUTFoFEA |BERER 50.3 F | F | 7 | 11 i |
8 | 1 [AM3aUFSMT |F=RHA 49.4 E| E| 6 o—
9 AA—-Fryy iR 48.1 F| F | 8| s 4
10 PR 2520wt [EeER 10 13

11 1oEw3a BRF 12
12 B VAT ERE 15 8
13 [ 3| AvAL—i RERS 14 14
14 -,T-UJrzE:P MEE= 13 10
15 R LE AR BIFIL HOSX 9 6

N

' 15 ¥170 i 1-14-15 ¥1,700
1-15 ¥880 15-1-14 ¥4,970




Hi' dn »

- T &

1l
yuin

FISFU HRILBATE s G e
AZXJV1M1 =HE 62.1 3 | D 4
SYRITLAT =mig 50.0 ERlEN 7 | 5 6
Flq = 49.7 DD 4 | 3 1
H—Zf—5—- iR 47.7 EPD 3| 4| % | 5
YIZVEAMNF | ESARER 46.8 B 8 | 8 7

| (AUSFADPAY |EHEZ | 450 | F 6 | 7 3
AbsHLA HOSX | 44.5 F 5| 6 9
B34 XATPIA | BEELC F|F | 9|9 8

N

' 5 ¥730 25 5-8-9 ¥2,920
5-8 ¥460 5-8-9 ¥15,420




= BRI=Ey | i o ]

T
1

il

" |

1 HE-ZXT5¥— |ReE s s | 1
2 SI7 in— 2| 2 2
3 SN=TUN314Y |IINEia 57.8 C| C| 4|7 | % |9
4 O e Rl IREF R 57.5 C B 3 | 5 6
5 e PEVE S =23l 55.4 N 7 ( 8 8
6 ey UL I BREEC 52.3 E|F| 9| 6 5
7 —1—-A-UYA | REiE 51.3 E|E| 5| 4 10
8 Ix—FAEUYE |EFRFEZ 48.1 F - 8 | 9 |
9 | 9 |[F—A-J—-N)L |EEEZ 48.0 F| F | 6| 3 4
10 151 SiER | 48.0 F | E |10 10 13
11 I3 7Pvdh BHF 46.2 F | F |11 | 11 7
12 EvdE—b MERS 15 | 15 12
13 A330534X |HIHEZ 14 | 12 3
14 | 1 |FILEEISA AZETT 12 | 13 14
15 | 10 [¥FEX¥335 HOSX 13 | 14 15
EH-F*(I&WEE‘J SEE 16 | 16 16
N

' 11 ¥210 HiE 6-11-15 ¥8,830

11-15 ¥220 Gl 11-15-6 ¥20,790




[ITH
1 ]

=
1l
e |

1 NurLad-F = e | 1
2 | 5 |¥2980 MEZE= 1 | 3 4
3 | 1 |Z7ILIYNO0-X |BEEE 59.8 B |  C| 4| 4 3
4 FATPA0145-N |[IRFAEE 57.2 C | C (WO E——
5 RIFFEAZ = HBE 51.6 D |  D| 3|5 6
6 734 =mif 49.5 N 7 | 6 | % | 7
7 23048 FHE 48.1 E| E| 6| 7 8
8 |[bih|F—A-vas0s |Z@K= | 414 | E | E | 10] o 9
9 I4H430-) |BSREZ F 10 10
10 10 AM1ybh—5>  |BNEE 11 11
11 Bl 7Aunyo0-  |imEs 8 5

=&
' G ¥260 £ 1-6-9 ¥490
6-9 ¥570 6-9-1 ¥2,180




FITH

Hi' B »

1 FAOTYFE—=b  |IRHIEE o 2
2 AL39F7IFA | RE 66.5 2 | 1 5
3 FrANANRI | EEAER 56.8 ER 5 | 7 10
4 IPAINANT | KE=ET 56.0 B E | 7 | 6
5 NLF33 =HE" 49.0 DID | 4 | 5 4
6 | 8 [FFAFTAY—F =mif 49.0 B 9 8 13
7 NUN\VE-T =i ERE 48.9 F| E| 8 |10 i |
8 LyRdFU7—b  |HOSX 48.4 E|D| 10| 9 6
o El|spes=>y |mEmm | 484 | F | F 11|11 8
10 A2303YFY | BINSFE 48.2 FPF 13 | 14 9
11 SI2hENS M. FhA 47.6 F | E 3 1
12 av{m—1 SHE 47.4 F | E 6| 4 3
13 73Y094v), |SHE 15 15
Jrslbo¥ SRHEZ 12 14
AT UYY S)=tF 13 12
4 ¥710 i 4-6-14 ¥5,300
4-14 ¥1,690 4-14-6 ¥33,080




R 6
2 = SF 4 BBISE | = R | O ENE
1 INLYY MUY | 657 | s | s | 1|1 2
2 FSvIRLA =g 57.8 . 2 | 2 9
3 EOM XA | BINSEE 55.4 ER. 3 | 3 5
4 [ L |FYHUnb X281 | 533 |c|c 5| a 3
5 EMTS17> BEEA | 517 [ D | D| 4| 6 7
6 | Y4ESI-3) |SHsER 50.8 Dl D| 7|5 1
7 ENSHJIVUYAZ  (EE#— | 475 | E | E | 6 | 8 6
8 UI-SASF =L DE: 43.7 E| E | 8| 7 8
9 | 1 |¥vOLEF>H IRE &N 43.5 F I & 10| 9 4
10| 5 (¥aU7z0-X |EOSX | 302 | F | 6| 9 | 10 10

=&

6 ¥1,120 6-7-10 ¥2,640
6-7 ¥850 6-7-10 ¥27,200




FITH

Hi' dn »

1 -ILIA5> =0 1 | 4 4
2 E2h4 )40 SR EZ 61.9 BB | 2| 3 13
3 e 7x)—— &L #5h 56.2 SR 3 | 2 6
4 MNHF—ZXPAN  |EEAEX 54.6 NN 4 | 5 7
5 Fr>FILRA =HBZ 54.0 . 7 | 7 3
6 AF—9212V0 |SHB 52.4 E|F 12| 6 1
7 A239AAZTR | BNSF 52.0 E | E 10 14
8 | 8 |4)y71—-Fr— |M. FA 50.0 E|D| 8| 8 5
9 JUDX NI 49.1 F | F 2
10 MLAA—7— =HFREH 46.8 FE | 10| 11 12
11 ARN-00¥s14 |PEFE 46.1 FPF 6 (12| &« | 11
12 FANR—2 S)=f+ 46.0 F| F 14| 9 8
13 ISA74FITIT |BRME{C 14 10
14 J520—-Fz HOSX 13 9
15 | 1 |[FI—F1I— E\=E 15 15

N
' 12 ¥1,780 i 4-12-15 ¥20,370
12-15 ¥4,400 12-15-4 ¥129,400




wia!
1 ]

=]
1l
e |

1 YwFIS9I IRHIEE - 6
2 U=y A5 - FRLLSATE 57.9 s | L
3 | 5 [UNJADAH-T |PEFE 56.5 B | B | 4| 3 2
4 O—-LI+vr=A> |FE=MHA 52.7 SR 3 | 4 8
z E JL{U-FY—-A |(MIHSE— | 505 | D | D | 6| 6| % | 3
6 L9/ 9—Fv¥1 |EE 49.6 NN 5 5 | % | 9
7 HoYIZATU SH#z | 46.8 E|E | 7| 7 4
8 | 1 |FAJNILIA AESEM 43.8 E| E| 8| 8 Fy
Eﬂf:ﬂDE—:J{?’ WEmS | 300 | F | F| 9| 9 z

N
2 ¥270 25 2-5-9 ¥3,060
2-5 ¥740 2-5-9 ¥8,630




[ITH

1l
puin

1 BOEATF4 BRE B 1 | 2 7
2 YIZUPL240 | EINEE 63.4 4 | 5 10
3 7T — LNITE 57.8 S 2 | 1 4

4 | 1 |FUvbIELIA (EE= 57.2 ER 5 | 3 |
s IOlt-m97172 |Emmc | 557 [B| E |8 | o 8
6 ys[m b EHEH 55.6 D| D | 6|6 2
7 NGHN—-F = H 5 52.7 NN 7 | 7 13
;Eﬂﬁ?hh EMlE= 50.7 E|E| 3| 4 3
9 | 10 |YYH1YEVR |BERE 49.2 E | E | 14 | 15 16
10 PAlyov ko547 EwEm | 487 | F | E [ 12]13 12
11 | 2 |A—-H2Pviv— (HIEHEZ 48.2 F | F |13 | 11 9
12 BP8eysnrur s | 453 [ F | F |98 1
13 171475—Ml |F=HA 45.1 F | F |10 ]| 10 18
14 QW 5-9TI9U72  |IERS 44.9 F | F |18 | 12 5
15 #’Jbuﬂﬁ—b IRHIEE 16 17
Gl 12 EEr i) BERHEZ 17 15
17 B 7V 3A=Y Rp{E 18 11
18 M /\NILTrMb | iR 14 14

N

' 11 ¥1,760 HiE 5-11-13 ¥18,540
11-13 ¥10,860 E 11-13-5 ¥181,310




Hi' dn DR

1 EVISUE)N |[HEILGAE o i
2 Y—vUYPULY | ENEE 58.4 C| C| 4| 4| % |10
3 | 8 [BYybUF> IRHIRE 57.6 E. 3 | 2 4
Iﬂ UFa7IL iR 54.5 D | D|5 |5 3
5 N-=7)0v7 = 54.2 B 2 | 3 1
6 PN AYEA-F =HREH 51.0 B 6 | 7 6
7 F?EI:IU'D =R s08 EEEEE = | 6 9
8 o |bykrI7—0O {#ELsEsL | 49.0 E| E |12 10 i |
9 YuAO—-F M. FhA 48.1 F| E | 9 7

10 |FUN2Y-M=— (HIE®E= | 476 | F |F | 7 | 8
11 BN -299-0k  |SuEm | 437 F | E |10 11 8
12 :F'Uw*}':'?:ﬂ:f EMEHE 12 12
13 PN LA—ARZTD HOSX 13 14
14 WIS R |BHE 14 13

N

' 12 ¥720 4-6-12 ¥2,220
6-12 ¥570 12-6-4 ¥12,570




FITH

=
1l
e |

1 | ol (vanss HILZAT 1
2 Sy¥F—d-JLF |iR${E 58.5 Ty 3
3 E:MTNFIF- in— 55.0 EE 4 | 3 | % | 4
IHD—E}FJTEI—I =mER | 539 |C|C| 5|5 2
5 F4eA/VINE |IRHIEE 50.2 D | D|3|4]| % |9
5 L5205 — SINEE | 43.9 E|E| 7| 8 6
7 VAP EVS Ik SR 43.5 E E 8 6 8
8 a EPFZIRG Wlsesh | 393 | F | F |6 | 7 7
9 YaNNYTHhR |EEMR 384 | F|F |9 | o 5

N
9 ¥170 = 2-6-9 ¥860
6-9 ¥1,170 9-6-2 ¥4,120




[ITH

=
1+

1l
FTH

1 rOAARO-)L  |E=E | 6189 | B | B | 2 | 1 1
2 Y—=FZNO0-X |fEILSLATE 60.8 B | B |3 | 2
3 el =iER | 59.6 ENEEN 6 | 4 8
4 YIEFARA IRHIEE 58.5 P 5 | 7 | w | 12
5 F207 - =1zl 57.2 C Bl 1| 3 5
6 J b ZHET 57.0 D D| 4|5 4
7 | 9 |2V/2«440 HIBEE= 51.8 E| E| 8| 6 6
8 H-AF400 | EERE 50.9 E| E |11 ]| 8 3
o [ YIUSFR mNE¥ | 487 | F | F | 13| 13 9
10 [ 3-3IN\—-b Rk 46.8 E BN 7 | 9 15
Eﬂﬂ?ﬁﬁ AZEMT 46.2 F | F |12 | 11 10
12 (WA A—7—hLAy |R&EE | 451 | F | F | 10 | 12 13
EEJ*}*-FJL—T =SH#Ez | 417 | F | 6| 14| 15 7
14 | AL 3RS P 40.5 F | F | 15| 14 11
15 | 10 |91t(==A%— [HOSX | 396 | F | 6| 9 | 10 14
16 | 1 |FATAIHS ERwmi- 1838 |6 | 6| 16 | 16 16
N
4 ¥380 E 4-13-14 ¥5,210
4-13 ¥860 E 4-13-14 ¥23,590




